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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the components of Balance of Payment. How 

do policy makers use the data of balance of payment 

for the purpose of policy framing ? 

Hkqxrku larqyu ds ?kVdksa dks le>kb;sA Hkqxrku larqyu ds 

leadksa dks uhfr fu/kkZjd uhfr;ksa ds fu/kkZj.k esa fdl izdkj 

mi;ksx dj ldrs gSa \ 

2. Differentiate between monetary and fiscal policies of 

an economy. How do they affect the development 

process of an economy ?  

,d vFkZO;oLFkk dh ekSfnzd ,oa jktdks”kh; uhfr esa foHksn 

dhft,A ;s uhfr;k¡ vFkZO;oLFkk dh fodkl izfØ;k dks fdl 

izdkj izHkkfor djrh gSa \ 

3. Explain the important causes of unemployment and 

poverty in India.   

Hkkjr esa csjkstxkjh ,oa xjhch ds eq[; dkj.kksa dks le>kb,A  

4. Explain the role of World Trade Organization in the 

development of international trade.  

vUrjkZ”Vªh; O;kikj ds fodkl esa fo’o O;kikj laxBu dh 

Hkwfedk dks le>kb,A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Why is it important to study the Business 

Environment ?  

O;kolkf;d i;kZoj.k dk v/;;u D;ksa egRoiw.kZ gS \ 

2. It is essential to frame fiscal policy for an economy. 

Discuss.  

,d vFkZO;oLFkk ds fy, jktdks”kh; uhfr cukuk vko’;d gSA 

O;k[;k dhft,A  

3. Write a short note on the Indian Import Policy.  

Hkkjrh; vk;kr uhfr ij ,d laf{kIr fVIIk.kh fyf[k,A  

4. What were the objectives of Five Year Plans ?  

iapo”khZ; ;kstukvksa ds D;k mn~ns’; Fks \ 

5. What are your suggestions for rapid economic 

development of India ?  

Hkkjr ds rst vkfFkZd fodkl ds fy, vki D;k lq>ko nsaxs \ 
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6. How does the international economic environment 

affect domestic economic environment ?  

vUrjkZ”Vªh; vkfFkZd okrkoj.k ?kjsyw vkfFkZd okrkoj.k dks 

fdl izdkj izHkkfor djrk gS \ 

7. Explain the objectives of privatization.  

futhdj.k ds mn~ns’;ksa dks le>kb,A  

8. Why are foreign direct investment essential for 

development ?  

fodkl ds fy, fons’kh izR;{k fuos’k D;ksa vko’;d gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh fodYi pqfu;s % 

1. An investor who makes FDI is known as a/an ........... . 

(a) Indirect Investor  

(b) Direct Investor 

(c) Domestic Investor  

(d) None of the above  
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,d fofu;kstd tks FDI djrk gS og 
-----------------

A 

¼v½ vizR;{k fofu;kstd dgykrk gSA  

¼c½ izR;{k fofu;kstd dgykrk gSA  

¼l½ ?kjsyw fofu;kstd dgykrk gSA  

¼n½ mi;qZDr esa ls dksbZ ugha  

2. MNCs may make FDIs to have .......... . 

(a) Portfolio diversification  

(b) Higher return  

(c) More profits  

(d) None of the above  

MNCs, FDI dj ldrh gS 
-----------------

A 

¼v½ iksVZQksfy;ks foLRkkj ds fy,  

¼c½ mPp izR;k; ds fy,  

¼l½ vf/kd ykHk ds fy, 

¼n½ mi;qZDr eas ls dksbZ ugha  

3. BOP is based on the principles of ............ . 

(a) Single entry book-keeping  

(b) Double entry book-keeping  

(c) International accounting   

(d) None of the above  

Hkqxrku larqyu 
----------------

 fl)kUr ij vk/kkfjr gSA 

¼v½ ,di{kh; book-keeping  

¼c½ f}i{kh; book-keeping 

¼l½ vUrjkZ”Vªh; ys[kkadu  

¼n½ mi;qZDr esa ls dksbZ ugha  
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4. All credit entries in BOP represent the ............. of 

domestic currency.  

(a) Demand  

(b) Supply   

(c) Exchange rate   

(d) None of these 

Hkqxrku larqyu dh lHkh ØsfMV izfof”V;k¡ ?kjsyw eqnzk dh 

----------------
 dk izfrfuf/kRo djrh gSaA  

¼v½ ek¡x  

¼c½ iwfrZ  

¼l½ fofue; nj  

¼n½ buesa ls fdlh dk Hkh ugha  

5. MNC is considered to be ........... credit worthy than its 

subsidiary unit.    

(a) Less  

(b) More  

(c) Moderate 

(d) None of these 

MNC viuh lgk;d dEiuh dh vis{kk 
----------------

 fo’oluh; 

gksrh gSA  

¼v½ de 

¼c½ vf/kd  

¼l½ lkekU;  

¼n½ buesa ls dksbZ ugha  
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Fill in the blanks :  

fjDr LFkkuksa dh iwfrZ dhft, %  

6. ............. is in the prohibited list of FDI in India.  

Hkkjr eas FDI dh lwph esa 
------------------

 izfrcaf/kr gSA  

7. The last five year plan was started from ............. . 

vfUre iapo”khZ; ;kstuk 
---------------

 ls ‘kq: gqbZ FkhA  

8. The fiscal policy is related to ............ . 

jktdks”kh; uhfr lEcfU/kr gksrh gS 
-------------------

A 

9. In India export-import policy in framed by ............. . 

Hkkjr esa vk;kr&fu;kZr uhfr dk fu/kkZj.k 
---------------

 djrk gSA  

10. The main task of the WTO is ............ . 

WTO dk eq[; dke ---------------- gSA  
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